
CUADERNO	
  DE	
  RECURSOS	
   Evaluación:	
  primera	
  
Curso:	
  2º	
  de	
  Bachillerato.	
  
Asignatura:	
  Geografía	
  de	
  España.	
  
Bloque:	
  España	
  en	
  Europa	
  y	
  en	
  el	
  mundo	
  

Unidad:	
  2.	
  Singularidad	
  y	
  diversidad	
  de	
  España	
  
	
  

POBLACIÓN	
  ACTIVA	
  ESPAÑOLA	
  POR	
  SECTORES	
  (2002)	
  

	
  
LEYENDA:	
  

§ Sector	
  primario.	
  4%.	
  
§ Sector	
  secundario.	
  27%.	
  
§ Sector	
  terciario.	
  62%.	
  
§ Sin	
  trabajo.	
  8%.	
  

	
  

Comentario	
  de	
  un	
  Gráfico:	
  

Gráfico	
   de	
   sectores	
   con	
   la	
   distribución	
   de	
   la	
   población	
   activa	
   por	
   sectores	
  
económicos	
   en	
   España	
   en	
   2002.	
   Puede	
   observarse	
   que	
   el	
   sector	
   con	
  menor	
   con	
  
menor	
  población	
  activa	
  (4%)	
  es	
  el	
  primario,	
  producto	
  de	
  la	
  mecanización	
  agrícola	
  
y	
   de	
   las	
   mejores	
   rentas	
   que	
   ofrecen	
   los	
   sectores	
   secundario	
   y	
   terciario.	
   Ello	
   ha	
  
provocado	
   que,	
   desde	
   los	
   años	
   cincuenta	
   del	
   siglo	
   XX,	
   se	
   haya	
   producido	
   un	
  
trasvase	
  de	
  población	
  del	
  campo	
  a	
  la	
  ciudades.	
  El	
  sector	
  secundario	
  ocupa	
  el	
  27%	
  
de	
  la	
  población	
  activa,	
  	
  un	
  porcentaje	
  habitual	
  entre	
  los	
  países	
  industrializados.	
  El	
  
sector	
  terciario	
  ocupa	
  el	
  62%,	
  lo	
  que	
  indica	
  una	
  clara	
  terciarización	
  de	
  la	
  economía	
  
española.	
  Se	
  explica	
  por	
  un	
  a	
  parte,	
  por	
  la	
  crisis	
  económica	
  de	
  1975,	
  que	
  afectó	
  a	
  la	
  
industria	
   e	
   hizo	
   crecer	
   más	
   el	
   sector	
   servicios,	
   y,	
   por	
   otra,	
   por	
   el	
   desarrollo	
  
creciente	
  del	
  país,	
  que	
  exige	
  cada	
  vez	
  un	
  mayor	
  número	
  de	
  servicios.	
  

Esta	
   distribución	
   de	
   la	
   población	
   activa	
   es	
   similar	
   a	
   la	
   de	
   otros	
   países	
  
desarrollados.	
   Puede	
   suponerse	
   que	
   en	
   el	
   futuro	
   los	
   sectores	
   primario	
   y	
  
secundario	
  disminuirán	
  y	
  el	
  terciario	
  se	
  incrementará.	
  


